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3. (20 pts.) A string that is under 50 N of tension has linear density 0.005 kg/m. A
sinusoidal wave with amplitude 0.03 m and wavelength 2.0 m travels along the string.
What is the maximum transverse speed of a particle on the string?



Phys 151 01 Name: Test 3 Page 3

3. (20 pts.) A string that is under 50 N of tension has linear density 0.005 kg/m. A
sinusoidal wave with amplitude 0.03 m and wavelength 2.0 m travels along the string.
What is the maximum transverse speed of a particle on the string?

It is important to distinguish between the speed of the wave and the up-and-down speed
of the individual particles.
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